LEOT - 8LOZ
TdiOINGW Vid {5H0SEL ¢

MIA ‘OINYIE Ol maf
MANTH ]NND O zu.E<bz=>< “}

IVdIDINNN VY3

Z3IWO09O NV'1Lvd H1Id 34 01

7

R-ET& CUZd}mu Oig 30 )
e S S N A

6LTLL'YSL'OZLS 10'88L°9SZCL$ 10'88.95Z'CL$ 08°09S‘LLYZELS 08'eve‘OvL'YS 00°2LZ'b29°221$ ojse9 |9p _m«o._.
€0'890'G85'6v$ 16'Lv8'V.L¥'S$ 16'Lv8'vLY'GS 00'916'650°G5% ¥2'620°'LEEES 9/'988'8CL'LS$ elalosa)l
06'11°828% oL'ziv'iezs oLziv'iees 00°225°660°L$ " 00°225'660°'+$ BARUDADLd [edIdluniy eidljod
29'sve'ov9‘6eS 08'LLYV'L86'LS 08'LLV'1L86'LS YV LLL' L2 LS e rey'LE6s 0Z'€82'969'0v$ Sedlqnd seiqo ap uolddalig
/6'8L1°€8C'GLS €2°€98'€96'L$ €2°€98°€96'L$ 02'286'9¥C'LL$ L6'786'991$ 6C°L666L0°LL$ |e1oos ojjoliesaqg
06°0LZ°L6V$ 20'819°6¥e$ 20'8L9°GYES 26'828'2¥8% 86°€L9'LELS ¥6'v12'50L$ 021Wwouod3 ojjoliesaq
98'80Z°L¥S'L$ 69°020'9¢2'L$ 69'0L0'9€Z'L$ GG'612°2.L'8% SY'18Z'ELLS 01'866'€09'8% jedidiuny ajuapisaid
Z1°6Z6'605$ ¥8°008'v.L$ ¥8°008'7.$ 96'62/.'v8S$ = 96'62.'v8G$ ousajuj jo3u0) ap ouebip
€8'901°28.% ¥8'ZL1'68% ¥8Z1L1'G8% 19'6L2'2.8% = 19'612'2.8% ojuajwejunie |ap elie}a1d9s
29'€69'886'€$ ¥ 1212193 vy izLzios 90°G18'009'v$ N 90°618°009't$ eunpibay
A TAN LS 89'165'9L1L$ 89'16G'9L1LS 26°6¥8°L5.$ = 26'Gv8'2G.% einjesipuls
0/'628'96.$ 0¥’ LL8'V¥1L$ ov'LL8'v1LS 0L'€0L'LV6$ § 0L°€0L'L¥6$ ledidluniy eduspisald
(p-€)=9 S 14 (z+1)=¢ z L
sauo12onpay
oid1o13fagng opebed opebuanag OpeslIpoN | sauoideldwy opeqoudy ojdasuon
sosaib3 ,

0Z0Z P 01213} ap 67 [ 0J2U3 3P | |9p
BAELISIUILIPY UOIDEDISE|D

sosaib3 ap ojsandnsaid |ap 0191243[3 |ap 0d11jeUY OpE)S]

“19 ‘odue|g oiy ap oididiunpy




